DBEENTREZIETANUSREERERERRAEITR

B

1~ BETEER - FREARSEE ?

8~ MRERWEN > REE(BRESE

ﬁ%kﬁﬁéﬂ
~ RATEE 53 2R HRE ?

& X Gl ==
EHF A (BEEA 2 14.29%
& 8 57.14%
= A 4 28.57%
EH8 AN REA) 0 0.00%
[ZREPN 0 0.00%
# Al 0 0.00%
b 5] 31 2 2] 5 0 0.00%
AETREH 0 0.00%
& et 14 100.00%
2~ AIMREE - BEE KA

=K A EE:

B 0 0.00%
TER 0 0.00%
i 0 0.00%
HH R 0 0.00%
B 0 0.00%
R 1 7.14%
TR 0 0.00%
=ik 0 0.00%
H st 0 0.00%
2R 0 0.00%
ticd 0 0.00%
i 0 0.00%
ZH 1 7.14%
i 0 0.00%
/N4 0 0.00%
=L 0 0.00%
AN 0 0.00%
gl 1 7.14%
SR 0 0.00%
Z % 0 0.00%
FR 1 7.14%
piud; e 0 0.00%
Fh 3 21.43%
2RI 0 0.00%
X 0 0.00%
il 0 0.00%
glli%s 1 7.14%
[hdiks 0 0.00%
+H 0 0.00%
HR 1 7.14%
DA% 0 0.00%
ks 0 0.00%
[ 0 0.00%
it 0 0.00%
FRitd 0 0.00%
RS 0 0.00%
FE 2 14.29%
Ft 0 0.00%
Z W 0 0.00%
iR 0 0.00%
5484 1 7.14%
piirs 0 0.00%
Exlire 2 14.29%
RS 0 0.00%
AatECihl 0 0.00%
=riRan S 14 100.00%

FES P ER HEFHEREERTERERBLN
T EE T2 | ssriv| |RAERZE?
TR A AT (2 14.29% E % IGa: ERalre
PEZ=PNGIE-! 0.00% JEERSS 0 0.00%
ARFR 0.00% SR 8 57.14%
& Et i 14 100.00% S 6 42.86%
e 0 0.00%
2~ SR R R R A (AR ] ? EEARTS 0 0.00%
E % Vas H 99 KFR 0 0.00%
JEE T 0 0.00% & a8 14 100.00%
R4 8 57.14%
A IF 35.

A 5 ”ZA’ 9 - MIBMREIE - BRITE (REZET
A4 0 0.00% B)REMEREE A R EREET
JEERAF 1 7.14% JBERE AR A RRER] ?

FFR 0 0.00% S % gy E A
& B 1 B 14 100.00% JEEF LY 0 0.00%
Ry 8 57.14%
3 - BBREMBEFE)SSFERNFE? Sy 6 42.86%
E O E 8 H o vy 0 0.00%
HERSBARE 6 42.86% JEER TS 0 0.00%
BEAE1053 88 DAY 7 50.00% & TR 0 0.00%
FEAE105 30573 1 7.14% & a8 14 100.00%
WEHEI0ZE 604 0 0.00%
605758 LA 0 0.00%
FFER 0 0.00% 10 ~ FERTHEABA A ABRIBERETH
& 5 B 14 100.00% B?
&% | mm | "o
4~ BEERRAREE(REEEE)NHE JEEWE 0 0.00%
REELNT ? = 13 92.86%
E E s =P siiy=g ) 1 7.14%
IEFELT 0 0.00% s 0.00%
1R #F 7 50.00% FEERHE 0.00%
A 6 42.86% %+ 0.00%
K 4F 0 0.00% & a8 14 100.00%
IEEARLT 1 7.14%
FFER 0 0.00% 11 ~ FEF I ABNREERES
&t 14 100.00% W ?
E X EE H 47 kb
5~ ERABEE (RESHE) HER TR 1 7.14%
TEREN SRS e 13 92.86%
E: gy | 55 wE 0 0.00%
JEHZE 0 0.00% RE 0.00%
=t 8 57.14% JEHER TR 0.00%
S| 5 35.71% * += 5 0.00%
AZRE 0 0.00% & a8 14 100.00%
FEERLE 1 7.14%
* TR 0 0.00% 12 ~ BT AZ B TREEER
& EF R 14 100.00% BEREWE?
E = 8 ERadss
6 - BE'E(REZLHE)ENAE)EE JEE R 2 14.29%
E K e | B S i 0 0.00%
HeEE 13 92.86% Ty 0.00%
H HZ% %”—E 0 0.00% J Eﬁxj%%f 0.00%
FHEE8E RFER 0.00%
SEENET 0 0.00% &t 8 14 100.00%
NS 1 7.14%
* TR 0 0.00% 13 ~ FAEAZE B T RREE R
o 8 14 100.00% HEY - FEEETHRE ?
E = 8 ERadss
;ﬁ‘ *ﬁgf %ﬁﬁ%ﬁ’%ﬁ A& D) JEEHE 0 0.00%
5Bk BT REER =
R 7 nE 14|
i R 0 0.00%
S e | B RmE 0.00%
IEETT 0 0.00% EERHE 0.00%
BTy 8 57.14% FFE R 0.00%
i 5 35.71% &t 8 14 100.00%
e 0 0.00%
EEART 1 7.14% 14110 7 B ERFEESREL 14 & -
R E T 0 0.00% 15 AAEBAHMEBER 14 -
TSR a4 14 100.00%




